7. Identify each of the following terms:

Symbol Units

a) C{ MD\ \TUC{ maximum displacement from the

A
equilibrium position
b) wa \i’é l CﬂG‘ % shortest distance along the wave % (mj

between two points that are in phase

c) DCI10 & time taken for one cycle ( 3L> . U.} z}
d) ﬁéﬁ?\ veney number of cycles per second
8. What 1s the yelations.l{ip between period and frequency?
Period Relationship Examples:
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9. Name each part of the Ié)ngitugmal f Q §i0 V Ay, C'F a(hOh
wave shown at right. Indicate the .—ﬁ mPrCS Iun- |
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Wave Motion vs. Particle Motion

a) In which direction is String particle, Compare the motion of the wave

the string particle 2 / Vwave with the motion of a single particle

. EE— .
moving at this instant? /\//\ of the medium.
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b) Sketch the wave and
particle after %4 of a
period from the time
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¢) Sketch the wave and } ,1 l
particle after Y2 of a | / | : |
period from the time i .- i
shown in a). | | \ |

d) How far will the wave energy travel in Wive (Lnelgy) i .
one period? Dﬂ& U.Jd\f(j !Cﬂﬁ Cons dﬂl’ di %(’,
¢) How long does it take one complete EJ'CI“L I OfWQﬂ I/ ,I f((,h orne

1o pass a given point? 710 A ‘"‘tlt e llmthll
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Determining the Speed of a Wave TEh:u:t’iiVne \/= )\f
Derivation
\/: c‘ Variable: \ ( o C) >\ 7[
t own: | 5peed. {wayelengt] fre Jency
s k [ﬂ} | \{j Cb -l
7 l ’"_[:_‘ S Units: LM/SX [W]S (%_,\ ;m Z}: S
Foyeaf oy L [ swlar [ sudar | scalar

I. A buoy moored off-shore bobs up and down as 0 60‘“

waves pass by. A nearby boater notices that it
takes 1.6 seconds for the buoy to move from its
lowest position to its highest position, a distance
of 0.80 meters. She also notices that the crests of
the waves are approximately 2.8 meters apart.

a) What is the average speed of the buoy:

- v=d _ 0.90m _[0.60m
T Tus. ( S
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, 2.6m
‘/\\j — wafter line

A=2.8m T=3.7¢

b) What is the average speed of the wave?
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2.a) On the bottom, sketch a wave that
has the same wavelength as the wave
on top but a higher amplitude.

b) A mechanical wave with a higher
amplitude has more . . .

c) Will increasing the amplitude
change the speed of the wave?

4. How can the speed of a wave be changed?

3.a) On the bottom, sketch a wave that has the
same amplitude as the wave on top but a
higher frequency.

b) A wave with a higher frequency hasa. ..

c) Will increasing the frequency change the
speed of the wave?
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